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Multiplying a Decimal by a Decimal

Solve the following problems.

2.5 2.18x =

2.88 10.2x =

3.1 0.23x =

0.2 1.12x =

1.86 1.9x =

1.23 1.3x =

0.59 3.2x =

4.27 1.5x =

1.11 15.4x =

2.9 0.65x =

1.8 1.45x =

1.25 2.1x =

1.34 2.6x =

0.44 1.8x =

1.5 5.09x =

3.1 0.23x =

2.4 1.48x =

2.15 3.7x =

2.44 2.9x =

2.19 3.2x =
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Answers

Solve the following problems.

5.452.5 2.18x =

29.3762.88 10.2x =

0.7133.1 0.23x =

0.2240.2 1.12x =

3.5341.86 1.9x =

1.5991.23 1.3x =

1.8880.59 3.2x =

6.4054.27 1.5x =

17.0941.11 15.4x =

1.8852.9 0.65x =

2.611.8 1.45x =

2.6251.25 2.1x =

3.4841.34 2.6x =

0.7920.44 1.8x =

7.6351.5 5.09x =

0.7133.1 0.23x =

3.5522.4 1.48x =

7.9552.15 3.7x =

7.0762.44 2.9x =

7.0082.19 3.2x =


